

Certain Aspects of Univalent Functions with Negative Coefficient Defined by Fractional Differential Operator

Jayesh Jain

Assistant Professor
Viva Institute Of Technology
Virar (E),Mumbai(India)

Ajazul Haque

Assistant Professor
Viva Institute Of Technology
Virar (E),Mumbai(India)

Deepak Dubey

Assistant Professor
Viva Institute Of Technology
Virar (E),Mumbai(India)

Satishkumar Singh

Assistant Professor
Thakur College Of
Engg.AndTechnologyKandiv
ali (E),

ABSTRACT

This paper introduced a new subclass of univalent analytic functions and derived various properties like coefficient inequality, distortion theorem, radius of starlikeness and convexity, Hadamard product, extreme points, closure theorems for functions belonging to this class with the help of fractional differential operator.

Keywords

Univalent functions, fractional derivative operator, Hadamard product.

1. INTRODUCTION

Let S_k denote the subclass of functions $f(z)$ of the form

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k \quad a_k \geq 1 \quad (1.1)$$

which are analytic and univalent in the unit disc

$U = \{z: |z| < 1\}$ of analytic and univalent function

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \text{ of class } S.$$

$$\text{Let } g(z) = z - \sum_{k=2}^{\infty} b_k z^k \in S_k, \quad b_k \geq 1 \quad (1.2)$$

which also analytic and univalent in U

The following definitions which are used for working in the classes of analytic functions

Definition (i): A function $f(z) \in S_k$ is said to be starlike of order α , $0 \leq \alpha < 1$ if

$$\operatorname{Re} \left(\frac{zf'(z)}{f(z)} \right) > \alpha, \quad z \in U \quad (1.3)$$

Definition (ii): A function $f(z) \in S_k$ is said to be convex of order α , $0 \leq \alpha < 1$ if

$$\operatorname{Re} \left(1 + \frac{zf''(z)}{f'(z)} \right) > \alpha, \quad z \in U \quad (1.4)$$

Definition (iii): If $f(z), g(z) \in S_k$ then their Hadamard product is $f(z) * g(z) = z - \sum_{k=2}^{\infty} a_k b_k z^k \in S_k$

$$\text{for } f(z) = z - \sum_{k=2}^{\infty} a_k z^k, \quad g(z) = z - \sum_{k=2}^{\infty} b_k z^k \quad (1.5)$$

Definations(iv): (Fractional integral operator)

The fractional integral of order α , is defined for a function $f(z)$ by

$$D_z^{-\delta} f(z) = \frac{1}{\Gamma(\delta)} \int_0^z \frac{f(\psi)}{(z-\psi)^{1-\delta}} d\psi, \quad \delta > 0 \quad (1.6)$$

where $f(z)$ is an analytic function in a simply connected region of the z -plane containing the origin, and the multiplicity of $(z - \psi)^{1-\delta}$ is removed by requiring $\log(z - \psi)$ to be real when $z - \psi > 0$.

Definations(v): (Fractional derivative operator)

The fractional derivatives of order α , is defined for a function $f(z)$ by

$$D_z^{\delta} f(z) = \frac{1}{\Gamma(1-\delta)} \frac{d}{dz} \int_0^z \frac{f(\psi)}{(z-\psi)^{\delta}} d\psi, \quad 0 \leq \delta < 1 \quad (1.7)$$

where $f(z)$ is constrained, and the multiplicity of $(z - \psi)^{-\delta}$ is removed as in definition (iv).

Definations(vi): (Extended fractional derivative operator)

Under the hypothesis of definition (v) The fractional derivative of order $n + \delta$ is defined, for a function $f(z)$, by

$$D_z^{n+\delta} f(z) = \frac{d^n}{dz^n} D_z^{\delta} f(z) \quad \text{where } 0 \leq \delta < 1; n \in N_0$$

Using the above definition Srivastava and owa [2] introduced the operator

$$\Omega^{\lambda} f(z) = \Gamma(2 - \lambda) z^{\lambda} D_z^{\lambda} f(z)$$

$$\Omega^{\lambda} f(z) = z - \sum_{k=2}^{\infty} \Phi(k, \lambda) a_k z^k$$

$$(1.8)$$

where

$$\Phi(k, \lambda) = \frac{\Gamma(k+1)\Gamma(2-\lambda)}{\Gamma(k+1-\lambda)}$$

Using the definition ,S.M.Khairnar and Meena More [1]

that a function $f(z)$ is in the class $S(\alpha, \beta, \gamma, \mu)$ if and only if,

$$\left| \frac{z \frac{\Omega^{\lambda+1} f(z)}{\Omega^{\lambda} f(z)} - 1}{2\gamma \left(z \frac{\Omega^{\lambda+1} f(z)}{\Omega^{\lambda} f(z)} - \alpha \right) - \mu \left(z \frac{\Omega^{\lambda+1} f(z)}{\Omega^{\lambda} f(z)} - 1 \right)} \right| < \beta$$

$$\text{for } |z| < 1 \quad (1.9)$$

$$\text{Where } 0 < \beta \leq 1, \frac{1}{2} \leq \gamma \leq 1, 0 \leq \alpha \leq \frac{1}{2}, \frac{1}{2} < \mu \leq 1.$$

In this paper all the investigated results are motivated by S.M.Khairnar and S.M.Rajas[1],G.Murugusundaramoorthy And R. Themangani[2], M.Darus [3],

2. COEFFICIENT ESTIMATES

Theorem1.: Let $f(z) = z - \sum_{k=2}^{\infty} a_k z^k \in S_k$. Then $f(z) \in S(\alpha, \beta, \gamma, \mu)$ if and only if

$$\sum_{k=2}^{\infty} [1 - k + 2\beta\gamma(k - \alpha) - \beta\mu(k - 1)] \Phi(k, \lambda) a_k \leq 2\beta\gamma(1 - \alpha) \quad (2.1)$$

$$\text{where } 0 \leq \alpha < \frac{1}{2}, 0 < \beta \leq 1, \frac{1}{2} \leq \gamma \leq 1,$$

$$\Phi(k, \lambda) = \frac{\Gamma(k+1)\Gamma(2-\lambda)}{\Gamma(k+1-\lambda)}$$

The result is sharp for the function

$$f(z) = z - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} z^k$$

Proof: Assume that the inequality (1.9) holds true and

$|z| = 1$. Then obtain

$$\begin{aligned} & |z\Omega^{\lambda+1}f(z) - \Omega^\lambda f(z)| \\ & -\beta|2\gamma\{z\Omega^{\lambda+1}f(z) - \alpha\Omega^\lambda f(z)\} - \mu\{z\Omega^{\lambda+1}f(z) - \Omega^\lambda f(z)\}| \\ & \leq \left| \sum_{k=2}^{\infty} (1-k)\Phi(k,\lambda) a_k z^k \right| \\ & \quad -\beta \left| 2\gamma \left[(1-\alpha)z + \sum_{k=2}^{\infty} (\alpha-k)\Phi(k,\lambda) a_k z^k \right] \right| \\ & \quad + \left| \sum_{k=2}^{\infty} (k-1)\mu\Phi(k,\lambda) a_k z^k \right| \end{aligned}$$

$$\leq \sum_{k=2}^{\infty} [1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)a_k$$

$$\leq 2\beta\gamma(1-\alpha)$$

by hypothesis. Hence by maximum modulus principle,

$f(z) \in S(\alpha, \beta, \gamma, \mu)$

Conversely, let $f(z) \in S(\alpha, \beta, \gamma, \mu)$.

Then

$$\left| \frac{z\Omega^{\lambda+1}f(z) - \Omega^\lambda f(z)}{2\gamma\left(z\frac{\Omega^{\lambda+1}f(z)}{\Omega^\lambda f(z)} - \alpha\right) - \mu\left(z\frac{\Omega^{\lambda+1}f(z)}{\Omega^\lambda f(z)} - 1\right)} \right| < \beta$$

$$\text{i.e. } \left| \frac{\sum_{k=2}^{\infty} (1-k)\Phi(k,\lambda)a_k z^k}{2\gamma[(1-\alpha)z + \sum_{k=2}^{\infty} (\alpha-k)\Phi(k,\lambda)a_k z^k] + \sum_{k=2}^{\infty} (k-1)\mu\Phi(k,\lambda)a_k z^k} \right| < \beta \quad (2.2)$$

Since $|\operatorname{Re}\{z\}|\leq|f(z)|$, for all z we have

$$\left| \operatorname{Re} \left\{ \frac{\sum_{k=2}^{\infty} (1-k)\Phi(k,\lambda)a_k z^k}{2\gamma[(1-\alpha)z + \sum_{k=2}^{\infty} (\alpha-k)\Phi(k,\lambda)a_k z^k] + \sum_{k=2}^{\infty} (k-1)\mu\Phi(k,\lambda)a_k z^k} \right\} \right| < \beta \quad (2.3)$$

Since $\frac{z\Omega^{\lambda+1}f(z)}{\Omega^\lambda f(z)}$ is real and upon clearing the denominator of the above expression, we choose the value of z on real axis and allowing $z \rightarrow 1$ through real values.

$$\frac{\sum_{k=2}^{\infty} (1-k)\Phi(k,\lambda)a_k z^k}{2\gamma[(1-\alpha)z + \sum_{k=2}^{\infty} (\alpha-k)\Phi(k,\lambda)a_k z^k] + \sum_{k=2}^{\infty} (k-1)\mu\Phi(k,\lambda)a_k z^k} \leq \beta$$

$$\sum_{k=2}^{\infty} [1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)a_k$$

$$\leq 2\beta\gamma(1-\alpha) \quad (2.4)$$

which obviously is required assertion (2.1)

Finally, sharpness follows if we take

$$f(z) = z - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} z^k, \quad k=2,3,4,\dots \quad (2.5)$$

Corollary: If $f(z) \in S(\alpha, \beta, \gamma, \mu)$ then

$$a_k \leq \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}, \quad k=2,3,4,\dots \quad (2.6)$$

3. GROWTH AND DISTORTION THEOREM

Theorem 2.: if the function $f(z) \in S(\alpha, \beta, \gamma, \mu)$ then

$$\begin{aligned} & |z| - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} |z|^2 \\ & \leq |f(z)| \\ & \leq |z| + \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} |z|^2 \end{aligned}$$

The result is sharp for

$$f(z) = z - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} z^2$$

Proof: $f(z) = z - \sum_{k=2}^{\infty} a_k z^k$

$$|f(z)| \leq |z| + \sum_{k=2}^{\infty} a_k |z|^k$$

$$\leq |z| + \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} |z|^2 \quad (3.1)$$

Similarly,

$$\begin{aligned} & |f(z)| \geq |z| - \sum_{k=2}^{\infty} a_k |z|^k \\ & \geq |z| - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} |z|^2 \end{aligned} \quad (3.2)$$

Combining (3.1) and (3.2), we get

$$\begin{aligned} & |z| - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} |z|^2 \\ & \leq |f(z)| \\ & \leq |z| + \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} |z|^2 \end{aligned}$$

Theorem: If the function $f(z) \in S(\alpha, \beta, \gamma, \mu)$ then

$$\begin{aligned} & 1 - \frac{4\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} \\ & |z| \leq |f'(z)| \\ & \leq 1 + \frac{4\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} |z| \end{aligned}$$

The result is sharp for

$$f(z) = z - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} z^2$$

4. RADIUS OF STARLIKENESS AND CONVEXITY

Theorem 3.: If the function $f(z) \in S(\alpha, \beta, \gamma, \mu)$ then $f(z)$ is a starlike of order α , $0 \leq \alpha < 1$ in $|z| < R$ where

R

$$= \inf_k \left\{ \frac{(1-\alpha)[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)(k-\alpha)} \right\}^{\frac{1}{k-1}}$$

The estimate is sharp for the function

$$f(z) = z - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} z^k$$

Proof: By definition (i)

$$R\left(\frac{zf'(z)}{f(z)}\right) > \alpha$$

$$\text{That is if } \left| \frac{zf'(z)}{f(z)} - 1 \right| \leq 1 - \alpha \quad (4.1)$$

$$\left| \frac{zf'(z) - f(z)}{f(z)} \right| \leq 1 - \alpha$$

$$\left| \frac{z - \sum_{k=2}^{\infty} a_k n z^k - z + \sum_{k=2}^{\infty} a_k z^k}{z - \sum_{n=0}^{\infty} a_n z^n} \right| \leq 1 - \alpha$$

$$\left| \frac{-\sum_{n=2}^{\infty} (k-1)a_k z^k}{z - \sum_{k=2}^{\infty} a_k z^k} \right| \leq \frac{\sum_{k=2}^{\infty} (k-1)|a_k||z|^{k-1}}{1 - \sum_{k=2}^{\infty} |a_k||z|^{k-1}} \leq 1 - \alpha$$

$$\sum_{k=2}^{\infty} (k-1)|a_k||z|^{k-1} \leq (1-\alpha) \left(1 - \sum_{k=2}^{\infty} |a_k||z|^{k-1} \right)$$

$$\frac{\sum_{k=2}^{\infty} (k-\alpha)|a_k||z|^{k-1}}{(1-\alpha)} \leq 1$$

(4.2)

By (2.6),

$$a_k \leq \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} \quad (4.3)$$

Using (4.2) and (4.3),

$$|z|^{k-1} \leq \frac{(1-\alpha)[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)(k-\alpha)}$$

Thus

$$|z| < R = \inf_k \left\{ \frac{(1-\alpha)[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)(k-\alpha)} \right\}^{\frac{1}{k-1}}, \quad k=2,3,\dots \quad (4.4)$$

Theorem4.: Let $f(z) \in S(\alpha, \beta, \gamma, \mu)$ then $f(z)$ is convex of order $\alpha, 0 \leq \alpha < 1$ in $|z| < R$ where R

$$= \inf_k \left\{ \frac{(1-\alpha)[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)k(k-\alpha)} \right\}^{\frac{1}{k-1}}$$

,The estimate is sharp for the function

$$f(z) = z - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} z^k$$

Proof: Let $f(z) \in S(\alpha, \beta, \gamma, \mu)$ is convex of order $\alpha, 0 \leq \alpha < 1$ if

$$\operatorname{Re} \left[1 + \frac{zf''(z)}{f'(z)} \right] > \alpha$$

That is

if

$$\left| \frac{zf''(z)}{f'(z)} \right| < 1 \quad (4.5)$$

which simplifies to

$$\sum_{k=2}^{\infty} \frac{k(k-\alpha)a_k|z|^{k-1}}{(1-\alpha)} \leq 1 \quad (4.6)$$

By equation (2.6) we have

$$a_k \leq \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} \quad (4.7)$$

Using equation (4.6) and (4.7),

$$|z|^{k-1} \leq \frac{(1-\alpha)[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)k(k-\alpha)} \quad (4.8)$$

Thus $|z| < R$

$$= \inf_k \left\{ \frac{(1-\alpha)[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)k(k-\alpha)} \right\}^{\frac{1}{k-1}}$$

5. EXTREME POINTS

Theorem5.: Let $f_1(z) = z,$

$$f_k(z) = z - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} z^k, \text{ then}$$

$f(z) \in S(\alpha, \beta, \gamma, \mu)$ iff it can be expressed in the form of $f(z) \in S(\alpha, \beta, \gamma, \mu)$

Proof: Suppose

$$f(z) = \sum_{k=2}^{\infty} \lambda_k f_k(z)$$

$$= \sum_{k=2}^{\infty} \lambda_k \left(z - \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} z^k \right)$$

$$= z - \sum_{k=2}^{\infty} \lambda_k \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} z^k \quad (5.1)$$

Now $f(z) \in S(\alpha, \beta, \gamma, \mu)$ since

$$\sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \cdot X \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} \lambda_k$$

$$= \sum_{k=2}^{\infty} \lambda_k = 1 - \lambda_1 \leq 1$$

Conversely, suppose that $f(z) \in S(\alpha, \beta, \gamma, \mu)$ then by theorem 1.

$$a_k \leq \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}$$

Setting

$$\lambda_k = \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} a_k$$

, $k=2,3,\dots$

And $\lambda_1 = 1 - \sum_{k=2}^{\infty} \lambda_k$ we notice that

$$f(z) = \sum_{k=1}^{\infty} \lambda_k f_k(z).$$

Hence the result.

6. HADAMARD PRODUCT

Theorem 6.: Let $f(z), g(z) \in S(\alpha, \beta, \gamma, \mu)$ then

$$(f * g)(z) = z - \sum_{k=2}^{\infty} a_k b_k z^k \in S(\alpha, \beta, \gamma, \mu)$$

$$\text{for } f(z) = z - \sum_{k=2}^{\infty} a_k z^k, \quad g(z) = z - \sum_{k=2}^{\infty} b_k z^k$$

where

$$\varphi \geq \frac{2\beta^2\gamma(1-\alpha)(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]^2\Phi(k,\lambda) + 2\beta^2\gamma(1-\alpha)[k-1-2\gamma(k-\alpha)]}$$

Proof: Let $f(z), g(z) \in S(\alpha, \beta, \gamma, \mu)$ then

$$\sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} a_k \leq 1 \quad (6.1)$$

$$\sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} b_k \leq 1$$

(6.2) To find smallest number φ such that

$$\sum_{k=2}^{\infty} \frac{[1-k+2\varphi\gamma(k-\alpha)-\varphi\mu(k-1)]\Phi(k,\lambda)}{2\varphi\gamma(1-\alpha)} a_k b_k \leq 1 \quad (6.3)$$

By Cauchy Schwarz inequality,

$$\sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \sqrt{a_k b_k} \leq 1 \quad (6.4)$$

Thus it is enough to show that

$$\sum_{k=2}^{\infty} \frac{[1-k+2\varphi\gamma(k-\alpha)-\varphi\mu(k-1)]\Phi(k,\lambda)}{2\varphi\gamma(1-\alpha)} a_k b_k \leq \sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \sqrt{a_k b_k}$$

That is

$$\sqrt{a_k b_k} \leq \frac{\varphi[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]}{\beta[1-k+2\varphi\gamma(k-\alpha)-\varphi\mu(k-1)]} \quad (6.5)$$

From (6.4)

$$\sqrt{a_k b_k} \leq \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} \quad (6.6)$$

Therefore, in view of the (6.5) and (6.6) it is enough to show that

$$\begin{aligned} & \frac{2\beta\gamma(1-\alpha)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)} \\ & \leq \frac{\varphi[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]}{\beta[1-k+2\varphi\gamma(k-\alpha)-\varphi\mu(k-1)]} \\ & \text{Which simplifies to} \\ & \varphi \geq \frac{2\beta^2\gamma(1-\alpha)(1-k)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]^2\Phi(k,\lambda) + 2\beta^2\gamma(1-\alpha)[k-1-2\gamma(k-\alpha)]} \end{aligned}$$

7. CLOSURE THEOREMS

Theorem 7.: Let $f_j \in S(\alpha, \beta, \gamma, \mu)$, $j=1,2,\dots,m$ then

$$g(z) = \sum_{j=1}^m c_j f_j(z) \in S(\alpha, \beta, \gamma, \mu)$$

Where $\sum_{j=1}^m c_j = 1$ and $f_j(z) = z - \sum_{k=2}^{\infty} a_k z^k$.

Proof:

$$\begin{aligned} g(z) &= \sum_{j=1}^m c_j \left(z - \sum_{k=2}^{\infty} a_k z^k \right) \\ &= z \sum_{j=1}^m c_j - \sum_{j=1}^m \sum_{k=2}^{\infty} c_j a_{k,j} z^k \\ &= z - \sum_{k=2}^{\infty} \left(\sum_{j=1}^m c_j a_{k,j} \right) z^k \end{aligned} \quad (7.1)$$

$$= z - \sum_{k=2}^{\infty} e_k z^k \quad (7.2)$$

$$\text{where } e_k = \sum_{j=1}^m c_j a_{k,j}$$

Since $f_j \in S(\alpha, \beta, \gamma, \mu)$ by Theorem 1,

$$\sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} a_{k,j} \leq 1 \quad (7.3)$$

In view of (7.2), $g(z) \in S(\alpha, \beta, \gamma, \mu)$

$$\sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} e_n \leq 1$$

Now

$$\begin{aligned} & \sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} e_n \\ &= \sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \sum_{j=1}^m c_j a_{k,j} \\ &= \sum_{j=1}^m c_j \sum_{k=2}^{\infty} \frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} a_{k,j} \end{aligned}$$

$$\leq \sum_{j=1}^m c_j$$

using (7.3)

=1.

Therefore $g(z) \in S(\alpha, \beta, \gamma, \mu)$

Theorem 8.: Let $f(z), g(z) \in S(\alpha, \beta, \gamma, \mu)$ then

$$h(z) = z - \sum_{k=2}^{\infty} (a_k^2 + b_k^2) z^k$$

is in $S(\alpha, \varphi, \gamma, \mu)$

where

$$\varphi \geq \frac{4\beta^2\gamma(1-\alpha)(1-k)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]^2\Phi(k,\lambda)+4\beta^2\gamma(1-\alpha)[k-1-2\gamma(k-\alpha)]}$$

Proof: Let $f(z), g(z) \in S(\alpha, \beta, \gamma, \mu)$ and so

$$\sum_{k=2}^{\infty} \left[\frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \right]^2 a_k^2 \leq \left[\frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \right]^2 a_k \leq 1$$

(8.1)

And

$$\sum_{k=2}^{\infty} \left[\frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \right]^2 b_k^2 \leq \left[\frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \right]^2 b_k \leq 1$$

(8.2)

Adding (8.1) and (8.2)

$$\sum_{k=2}^{\infty} \frac{1}{2} \left[\frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \right]^2 (a_k^2 + b_k^2) \leq 1 \quad (8.3)$$

I must show that $h(z) \in S(\alpha, \varphi, \gamma, \mu)$, that is

$$\sum_{k=2}^{\infty} \frac{1}{2} \left[\frac{[1-k+2\varphi\gamma(k-\alpha)-\varphi\mu(k-1)]\Phi(k,\lambda)}{2\varphi\gamma(1-\alpha)} \right]^2 (a_k^2 + b_k^2) \quad (8.4)$$

In view of (8.3) and (8.4) it is enough to show that

$$\frac{[1-k+2\varphi\gamma(k-\alpha)-\varphi\mu(k-1)]\Phi(k,\lambda)}{2\varphi\gamma(1-\alpha)} \leq \frac{1}{2} \left[\frac{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]\Phi(k,\lambda)}{2\beta\gamma(1-\alpha)} \right]^2$$

which simplifies to

$$\varphi \geq \frac{4\beta^2\gamma(1-\alpha)(1-k)}{[1-k+2\beta\gamma(k-\alpha)-\beta\mu(k-1)]^2\Phi(k,\lambda)+4\beta^2\gamma(1-\alpha)[k-1-2\gamma(k-\alpha)]}$$

8. CONCLUSION

This paper derived the basic properties like coefficient inequality, distortion theorem, radius of starlikeness and convexity, Hadamard product, extreme points, closure theorems of univalent and analytic functions with negative coefficient belonging to the class $S(\alpha, \beta, \gamma, \mu)$ with the help of fractional differential operator which are new result, can be used in engineering field.

9. REFERENCES

- [1] S.M.Khairnar And S.M.Rajas, On A New Class Of Analytic And Univalent Functions With Negative Coefficients Defined By Ruscheweyh Derivative, Int. J. Contemp. Math. Sciences, Vol.4, 2009, No.34,1653-1664.
- [2] G .Murugusundaramoorthy And R. Themangani , Fractional Calculus Operators Associated With A Subclass Of Uniformly Convex Functions, Jordan Journal Of Mathematics And Statistics (Jjms) 2009,2(1),1-10.
- [3] M.DARUS, Some Subclass Of Analytic Functions, Journal Of Math. And Comp .Sci.(Math Ser)16(3)(2003),121-126.
- [4] S. R. Kulkarni, WaggasGalibAtshan And G. Murugusundaramoorthy, Application Of Fractional Calculus On Certain Class Of P-Valent Functions With Negative Coefficients Defined By Ruscheweyh Derivative, Int. Journal Of Math.Analysis, 1(22)(2007), 1089-1101.
- [5] P.L Duren, Univalent Functions, Grundlehren Math.Wiss., Vol.259, Springer, New York 1983.
- [6] A.W. Goodman, Univalent Functions, Grundlehren Math.Wiss., Vol.259, Springer, New York 1983.
- [7] S.K.Lee and S.B.Joshi, Application Of Fractional Calculus to a class of univalent functions with negative coefficients, Kyungpook Math.J., 39(1999), 133-139.
- [8] M.S. Robertson, Certain Classes Of Starlike Functions, Michigan Math.J.32(1985), 135-140.